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BREA | K ki | B E 5y ss 8 W > o o %
No. Tk 4 (m)
(m) (m) (%0) (mg/L) (&) Cs—134 Cs—137
1| FE U i S Sk SR R 2000m T =8 2H14H i 14.7 0.5 6. 30.6 3 0.9 < <
T 13.7 32.3 3 1.1 <1 <1
o ka1 R Bt | 8 | ogam | w 5.ql 00 3. 31.2 ! 0.5 a a
T 2.3 32.3 2 0.7 <1 <1
3| AH R Hb 5 v BB )1 592000m s 3T =8 2H13H i 20. 1 0.5 6. 3l.2 6 0.9 < <
T 19.1 32.6 3 1.2 <1 <1
4 59 1000m e 3T f’é 2H13H i 8.8 (7)‘2 5. 22 1 i 1 1 : :
TR TSR E3E 0' 5 32. 8 4 1. 4 <1 <1
5 K H 59 1000m e 3T = 2H13H i 11.3 : 5. : :
T 10.3 33.1 7 2.5 <1 <1
6 /NI 1000m e 3T =8 2H12H i 11.4 0.5 4. 33. 2 > L3 <l <l
T 10. 4 33.2 10 1.6 <1 <1
7 FH )1 1HK92000m s 3T f’é 2H12H i 15.8 12‘2 4. 2;? Z 12 : :
TR R AR E3E 0' 5 32. 7 3 1. 4 <1 <1
8 REJI 7K 1000m et 3T = 2H6H = 12. 4 : 5. : :
T 11.4 33.0 3 1.4 <1 <1
9 ) 1400 1000m o 3T ZE ) open | om 0.9 %0 5. 82.7 2 1.0 a a
T 9.9 33.6 3 1.0 <1 <1
0 T b e K1 1000m o 3T EE ) opre | o j.of 05 6. 82.2 2 0.6 a a
T 9.2 33.1 13 2.4 <1 <1
117 R F ##91000m {3 =8 2ATH i 10. 2 0.5 4. 33.1 3 L4 <l <l
T 9.2 33.3 7 1.6 <1 <1
12| KA [ ##51000m {3z =8 2ATH i 10.5 0.5 5. 33.0 3 L1 < <
T 9.5 33.2 5 1.4 <1 <1
13|V o & T S B HN M9 1500m 3T =8 2H15H i 18.0 0.5 11. 32.7 2 0.5 < <
T 17.0 33.0 1 0.5 <1 <1
14| i mR s o domiEl— 28| apsn | 6.6 00 5. 31.8 2 L2 < <
T 15.6 32.8 4 1.9 <1 <1
15| g 45 1 40 1000m o 37 2B opsn | om 8.5 %0 5. 315 3 L a a
TE 17.5 33.1 4 1.4 <1 <1
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No. 7kiﬂi% :F?KE& H 35{% (m) :BK(E{;!E g(@#‘ ‘l‘%llj( f&%—f l‘%"? N '7 I _ {Jﬁ%
(cm) (%) Cs—134 Cs—137 &
L[ AR B b Sl v dn FIRT R R 2000m ) 3T 2H14RA i 14.7 6 74.6 b <10 <10 -
2142 1Rk T FEHE PRI X 1 5 P ST 2A14H & 3.3 3 73.4 b <10 <10 -
S| AR B b Sk H5)13#592000mf 30 2A13H i 20. 1 7 76. 4 b <10 14 14
4 L o )59 1000mfT T 2A13H i3 8.8 6 68. 8 T <10 91 91
JF e vt
5 IR K P9 1000m A<t 3T 27130 i 11.3 5 73.7 22 <10 15 15
6 JINE I8 1000m e 3T 2A12A i3 11.4 5 72.1 T <10 37 37
7 , 55 51 H#92000m et 3T 28120 i 15.8 7 65. 7 w 18 180 198
i X b St v I
8 TR P ek AEJI 19 1000mf} 3 2H6H = 12.4 5 74.5 wh 10 130 140
9 B 7K 1000mft T 2A6H Z 10.9 6 66. 7 b 24 280 304
10 | AR ZERT Hh e ek A1 39 1000m 3T 2H7H i 10.2 6 77.0 v <10 <10 -
11| VRN 1 A 1000mAs it 2A7H i 10.2 5 74.0 0y <10 42 42
12| R B 59 1000m {3 2A7H i3 10.5 5 73.0 T <10 25 25
13|V o & A SE ek S 1500m A 3 2A15H i 18.0 7 74. 4 b <10 14 14
14|/ 4% 1k PGB 82 55 2 D AL #9400 m AT 2H8HA i 16. 6 10 49. 1|V k- W 18 230 248
15| H AT FE ik 18 [ )1 #9100 0mA<t /T 2A8H i 18.5 8 70. 3 Tib <10 70 70
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